(ID 0 ) *7
AEETEE B A))Th wE 1oL 2 @

KE4  FHTEXXIIBEREHLA

N}
w
IS

5T =0, RAE/ED ?QEHI/—F‘ 5 R

AR |Ro A=(8) &

N
(%)
~
o
=3
~
=)
©
S

11112\ 131415/ 16| 17|18/ 19|20|21]22| 23| 24| 25| 26|27

L] B 54 ZR 5L By E

7S5=—xtOr 3 mg =¥ 309
|| TEY—H 6.6 mg
gt

rRTIY 150 mg/m =¥ 285 A

;Er ) HESIER 500 ml . A

HESIER 50 ml =¥ 155
x
pn 3 [ ) o

T
5t

T
5t

T
5t

T
5t

T
5t

T
5t

T
5t

RIS 75 ¢g 1B3EI&/H/ B

w2 )LY 300 mg 1B3[EB%E

LABREDPS S 15 mg 1B3[E &I

CTAREE 3g 1B3E &R/

IR | 5 |BRIER T RO L/RTSVIR [12-18 ¢ 183EE&#%

RAR

RAR

RAR

olo|vw]|lo|la|sr]|w|n| =

RAR

RAR

o

At Gy

HELEE

Emb

BERSEE

1ERPERE

25 R E

SRR E




